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QUESTION 1Which three transceiver form factors are supported by Brocade switches and routers? (Choose three.) A.  XPAKB.
SFPC. SFP+D. X2E. XFP Answer: BCEQUESTION 2Which type of transceiver would be used to support a 5 km single mode
fiber 10 Gbps connection? A. SFPB. SFP+C. GBICD. SFM Answer: B QUESTION 3Two sites 8 km apart will be connected
together using fiber optic cable. Which SFP/cable combination needs to be used? A.  short reach SFP with multi-mode fiberB.
short reach SFP with single-mode fiberC. long reach SFP with multi-mode fiberD. long reach SFP with single-mode fiber
Answer: D QUESTION 4A powered device connected to a Brocade Fastlron device has been auto discovered and classified as a
class-3 PoE device. However, its power consumption is only 10 watts. Which command would be used on the Fastlron to reallocate
power back to the available power budget, while still providing all the necessary power to the powered device? A. no
legacy-inline-powerB. inline power power-by-class 2C. inline power priority 2D. inline power power-limit 171000 Answer: D
QUESTION 5Which two Layer 2 network discovery protocols are used to detect POE power requirements? (Choose two.) A. FDP
B. LLDP-MEDC. LACPD. CDP Answer: BD QUESTION 6What are two Brocade stackable products? (Choose two.) A.
Brocade Fastlron SXB. Brocade Fastlron CXC. Brocade ICX 6430D. Brocade MLXe Answer: BC QUESTION 7What are two
Brocade products that are designed for use in a service provider network? (Choose two.) A. Brocade Fastiron SXB. Brocade
MLXeC. Brocade Netlron CER 2000D. Brocade FCX Answer: BC QUESTION 8Y ou have just configured a new Multi-Chassis
Trunk between two Brocade ML Xe chassis. Which protocol information will be distributed acrossthislink? A.  IPv6B. BGPC.
RIPv2D. STP Answer: D QUESTION 9Y ou have just purchased 22 new Brocade Fastlron FCXs. Y ou want to take advantage of
Brocade IronStack technology to make as many of the FCXs appear as a single stack as possible. What is the minimum number of
Brocade IronStacks required? A.  1B. 2C. 3D. 5Answer: C QUESTION 10What are two supported stacking topologies for
the Brocade IronStack technology? (Choosetwo.) A.  ringB. linearC. busD. star Answer: AB Braindump2go New Released
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